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iR Kz 8 RHBH iR K B RHBH i K HiB-HRE— i8R i\ Tl
6H 150 200m AL 25 2358 (+0.8)| &% & 23.90 (+0.8)|{£fE Ri 2391 (+0.8)| %R BE 2408 (+0.8)|&F HF 24.18 (+0.8)| It A 24.25 (+0.8)|FEE 41K 24.28 (+0.8) [+ FHZE 2475 (+0.8)
8 RHBH HiB HERE=F HiB- AR 8- i KR iR FRE— HiE- AR i Kb
65140 100m £ Rih 54.17| &1 —F 5581| AR X% 56.21|FLIL KiE 56.20|/\Hk Rh 56.70|{kBE L3R 56.86 |31t st 57.03| K& BA% 57.39
B AW HiB-AFF HiB-HRE—F i8R HiB EHAH iR FRERR i\ RAWLS iR HEE—H
6H 150 300m £k BX 2:04.15(E+E it 2:06.97 1L K5 2:0930(=8 2:1053(#E B 2:1205(R® KK 2:1207(#80 MK 213215 EK 2:13.52
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65140 1500m MR B 419.18(#3 RIE 41986 (£ BX 42059 |[BEAER BAED 42988(EFH 430.04(B48 R 4:30.65(1#1L & 4:34.09 M+ H2ZF 4:35.04
HiB FRERP iR -BEP iR FER iR FRERR iR BER HiB EHAH i8R iR FEERD
6A150 so00m | EEE 9:08.46|EED BAED 933.71 |43 RIE 9:43.06|EH &3F 9:4764|86K Tt 9:4808| %18 MK 9:48.48|# KA 9:4856|F3 9:51.83
HiB HERERFP GR|#18 #EFERP HiB-BER iR FRERP HiB-FEEZH HiB EHAH B RAWLS B BES
65148 Lom1 B -5 14.79 (+0.8)| /it ¥, 14.81 (+0.8) 51N RAH 16.18 (+0.8) % BX 16.26 (+0.8) (2% #h3 16.38 (+0.8) [N BAKED 16.47 (+08)[dLl 16.69 (+0.8) (11l #50 17.00 (+0.8)
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65 15H = MR RmiE 10.92 (+0.4) ;&M 1091 (+0.2)| Ki# B 10.82 (-0.9)| Ki§ 33 10.70 (+0.3)[BR WA 1053 (-1.4)| 5K BE 1043 (-1.2)|&H# R 1031 (-1.2)[AM 7 10.04 (-2.7)
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HB-FRE—p FHiB-Alp HB-HEERP R AR RS
61140 110mH 18.18 (+1.4) 18.77 (+1.4) 20.20 (+1.1) 21.69 (+1.4)
6A14A | R 9.45 7.82 8.68 8.40
6150 | bk 1.50 1.60 1.50 1.50
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651150 100mH EATIE 3 14.90 (+1.0) | FIR #Hth 15.22 (HML.D[NE EHF 15.38 (+1.1) £/ HBF 1551 (H.D[F 8 bEF 15.69 (+1.)|BE BB 1657 (+1.0)| 53 %A 16.62 (+1.1) s 16.74 (+1.1)
i\ Tl - T i\ RAEWLS i\ T i K B ERP iR -BER R ke
BTl 5114|318 - RAEWH 52.70| 3R FRERD 52.89|¥1i8 /INAF 53.14|$18 BRH 53.34|$18- ®AH 53.38|¥1i8- Kz 53.64 RS 53.71
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6A 141 g &F BEX 11.34(EL P53 10.63(f%:2 ME 9.28|5RM BH 9.04|R#F EE 869/ BEMREE 862|ikE £= 852[/MIl BXK 851
HiB-HEERP B INAF R i8R i\ Tl 8-l R i8I R HiB-FEE=H B BER
6/14~6/15 | mEESEL W == 2259[EH #ER 1760|)II4t & 1702| &M EE 1613| 1L FER 1519| @ #HHE 13793k A 43 130678 [£Bh 1223
BTl GR|#71i8-#iEHE—h i\ Tl 8- wEp HB-HEE—p 8- wEp HiB- AR iR EER
6 14H 100mH 15.88 (+1.5) 17.05 (+0.8) 17.67 (+0.8) 17.54 (+0.8) 19.98 (+1.5) 19.83 (+1.5) 18.39 (+0.8) 20.98 (+0.8)
6150 | bk 1.46 1.25 1.20 1.25 1.30 1.20 NM 1.20
6150 | BB 7.99 7.19 7.21 1.45 7.44 6.70 7.30 6.17)
64150 200m 29.00 (+1.3) 30.28 (+1.3) 29.54 (+1.3) 29.15 (+1.3) 30.57 (+1.3) 30.69 (+1.3) 29.70 (+1.5) 31.18 (+1.5)
st st | 6H14H 100m INE BT 12.80 (+1.9)| B1E VA& 12.83 (+1.9)| KRl BETH 13.05 (+1.9)|1LF HEF 1328 (+1.9)|fIE@ ZF 1353 (+1.9)|#8 £k 1356 (+1.9)|{kfE HF 1358 (+1.9)[ AR BAB 13.68 (+1.9)
B T GR[#1R-REEH GR|#1:8 ®AWLF HiB-HRERP HiB-BER iR KR BT B FEE=H
P . oom |EE BK 1343 (+1.2)|48 HhE 13.99 (+1.2)[iL8 ®%A 14.15 (+1.2)[ Il Ehn 1418 (+1.2) (1A & 1423 (+1.2) (&% 14.28 (+1.2) |55ty #3E 1432 (+1.2) |46 BATE 14.35 (+1.2)
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65 15H 300m Hil BT 2:4037(HE HUH 2:40.74 (355t A3 241.16|/NE EE 24247 AR E& 2:44.48(B48 V& 2:5389 (AR E# 2:55.16| & BMEF 2:56.49
B LEFED HB-FERE—P iR EER HiB-HRERP iR INAF P HB-AWp iR R B FEE=H
HB-FRE—p 55.67| %18 BiEH 57.70|#1B - BRH 58.08| %R - #EE 59.14| %8 INEF B 59.47| %8 & EH 1:00.26 1:0051
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hE =R Ra)l Z2# ENITRE 7 A B Al Bgx Ral k¥
HH BK Bl Z3 £ HRIE I HE Al # 2 B
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